
20dB bandwidth test report

for FCC ID: QWU-06E
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 20dB bandwidth 
802.11a 

TX chain : 0

Frequency :  5580MHz

Right edge = 5569.67 + 20.35 = 5590.02 < 5600MHz

Frequency :  5660MHz

Left edge = 5650.04 >5650 MHz
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 20dB bandwidth 
802.11a 

TX chain : 1

Frequency :  5580MHz

Right edge = 5570.18 + 19.76 = 5589.94 < 5600MHz

Frequency :  5660MHz

Left edge = 5650.13 >5650 MHz

P 3/10



 20dB bandwidth 
802.11a

TX chain : 2

Frequency :  5580MHz

Right edge = 5569.94 + 20.06 = 5590 < 5600MHz

Frequency :  5660MHz

Left edge = 5650.05 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 0

Frequency :  5580MHz

Right edge = 5569.43 + 20.91 = 5590.34 < 5600MHz

Frequency :  5660MHz

Left edge = 5650.1 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 1

Frequency :  5580MHz

Right edge = 5569.64 + 20.62 = 5590.26 < 5600MHz

Frequency :  5660MHz

Left edge = 5650.14 >5650 MHz
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 20dB bandwidth 
802.11an 20MHz 

TX chain : 1

Frequency :  5580MHz

Right edge = 5569.43 + 20.72 = 5590.15 < 5600MHz

Frequency :  5660MHz

Left edge = 5650.34 >5650 MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 0

Frequency :  5550MHz

Right edge = 5529.33 + 40.9 = 5570.23 < 5600MHz

Frequency :  5670MHz

Left edge = 5650.32 >5650 MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 1

Frequency :  5550MHz

Right edge = 5529.85 + 40.33 = 5570.18 < 5600MHz

Frequency :  5670MHz

Left edge = 5650.38 >5650 MHz
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 20dB bandwidth 
802.11an 40MHz 

TX chain : 1

Frequency :  5550MHz

Right edge = 5529.8 + 40.13 = 5569.93 < 5600MHz

Frequency :  5670MHz

Left edge = 5650.47 >5650 MHz
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